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 1-mark questions 

Q.1. Check whether the function 𝑓: 𝑅→𝑅 defined as 𝑓(𝑥)=𝑥3 is one-one or not.  
 

Q.2. How many reflexive relations are possible in a set A whose 𝑛(𝐴)=3.  
 

Q.3. A relation R in 𝑆= {1,2,3} is defined as 𝑅= {(1,1), (1,2), (2,2), (3,3)}. Which element(s) of relation R 

be removed to make R an equivalence relation? 

Q.4.  A relation R in the set of real numbers R defined as 𝑅= {(𝑎, 𝑏): √𝑎=𝑏} is a function or not. Justify 

Q.5. An equivalence relation R in A divides it into equivalence classes 𝐴1, 𝐴2, 𝐴3. What is the value of     

𝐴1 ∪ 𝐴2 ∪ 𝐴3 and 𝐴1 ∩ 𝐴2 ∩ 𝐴3 

Q.6. If f(x) = x + 7 and g(x) = x - 7, x ∈ R, find (fog) (7) 

Q.7. 

 

Q.8. 

 

 Descriptive questions 

Q.9.   

Check whether the relation R in the set Z of integers defined as R = {(𝑎, 𝑏) ∶𝑎+𝑏 is "divisible by 

2"} is reflexive, symmetric or transitive. Write the equivalence class containing 0 i.e. [0].  
 

Q.10 

 
Q.11 Let Z be the set of all integers and R be the relation on Z defined as R = {(a, b) ; a, b  ∈  Z, and 

(a - b) is divisible by 5.} Prove that R is an equivalence relation. 

Q12. Show that the relation S in the set R of real numbers, defined as S = {(a, b): a, b ∈ R and a ≤ b3} 

is neither reflexive, nor symmetric nor transitive. 

Q13. 

 

Q14. 
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Q15. 

 

Q16. 

 

Q17. 

 

Q18. 

 

Q19. 

 

Q20. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



25-04-2021/Work sheet/Class XII/Relations & Functions/Dolly David 
 

 

 

 

 

 

 

A
n
sw

er
s 

1 one-one 2 26 reflexive relations 3. (1,2) 4 √𝑎=𝑏 𝑖𝑠 𝑛𝑜𝑡 𝑎 

𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛. 

5 𝐴1∪𝐴2∪𝐴3=𝐴 𝑎𝑛𝑑 

𝐴1∩𝐴2∩𝐴3= ∅ 

6 7 7 f-1(y) = (5y + 2)/3 8 { -1, 1} 

9 R is an 

equivalence 

relation in Z 
[0]={… -4, -2, 0, 

2, 4, …}  

10  11  12  

13  14  15 f-1(y) = 

 (2-3y)/(1-y) 

16  

17  18 [3, 4] = 
{(1,2),(2,3),(3,4),(4,5), 

(5,6),(6,7),(7,8),(8,9), 

(9,10)} 

19  

 

 

20  

 

 

 

 

 

 

 

 


